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QUESTION 1

What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)
« A.when the sending device waits 15 seconds before sending the frame again
« B. when the cable length limits are exceeded
« C. when one side of the connection is configured for half-duplex
« D. when Carner Sense Multiple Access/Collision Detection is used

o E.when a collision occurs after the 32nd byte of a frame has been transmitted
Answer: CE

QUESTION 2

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.
check the answer below.

e A. Mastered

« B. Not Mastered
Answer: A
Explanation:

QUESTION 3

Two switches are connected and using Cisco Dynamic Trunking Protocol SW1 is set to Dynamic Desirable What is the result of this
configuration?

e A.Thelinkisin a down state.
e B.Thelinkisin an error disables state
o C.Thelinkis becomes an access port.

o D. The link becomes a trunk port.
Answer: D

QUESTION 4

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an

EIGRP neighbor. What is the administrative distance of the route that will be installed in the routing table?
« A.20

« B.90

« C.110

« D.115
Answer: B
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QUESTION 5

What are two southbound APIs? (Choose two )
o A.OpenFlow

« B.NETCONF
e C. Thrift

« D.CORBA

« E.DSC

Answer: CD
QUESTION 6

How does HSRP provide first hop redundancy?

« A Itload-balances traffic by assigning the same metric value to more than one route to the same destination m the IP routing
table.

« B. It load-balances Layer 2 traffic along the path by flooding traffic out all interfaces configured with the same VLAN.
o C. It forwards multiple packets to the same destination over different routed links n the data path

o D. It uses ashared virtual IMC and a virtual IP address to a group of routers that serve as the default gateway for hosts on a LAN
Answer: C
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